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3HQHOLWLDQ�LQL�GLODWDU�EHODNDQJL�ROHK�SHQWLQJQ\D�SHQDQDPDQ�QLODL�QLODL�GDVD�
GDUPD� \DQJ� GLODNVDQDNDQ� PHODOXL� NHJLDWDQ� HNVWUD� NXULNXOHU� SUDPXND�� 7XMXDQ�
SHQHOLWLDQ�LQL�DGDODK�XQWXN�PHQJDWDKXL�EDJDLPDQD�NHSHGXOLDQ�VRVLDO�VLVZD�GDODP�
PHQJDPDONDQ� QLODL�QLODL� GDVD� GDUPD� SUDPXND� GDQ� EDJDLPDQD� $NWXDOLVDVL� QLODL�
QLODL� GDVD� GDUPD� GDODP� PHQLQJNDWNDQ� NHSHGXOLDQ� VRVLDO� VLVZD� � GL� OLQJNXQJDQ�
603�1HJHUL����3DGDQJ�

-HQLV� SHQHOLWLDQ� LQL� DGDODK� NXDOLWDWLI� GHQJDQ� PHQJJXQDNDQ� SHQGHNDWDQ�
GHVNULSWLI�� ,QIRUPDQ� GDODP� SHQHOLWLDQ� LQL� GLWHQWXNDQ� GHQJDQ� FDUD� SXUSRVVLYH�
VDPSOLQJ�� -HQLV� GDWDQ\D� DGDODK� SULPHU� GDQ� VHNXQGHU� GLNXPSXONDQ� PHODOXL�
REVHUYDVL�� ZDZDQFDUD� GDQ� VWXGL� GRNXPHQWHU�� 8ML� NHDEVDKDQ� GDWD� PHQJJXQDNDQ�
WULDQJXODVL� VXPEHU� GDQ� PHPEHU� FKHFN�� .HPXGLDQ� GLDQDOLVLV� GHQJDQ� FDUD�
SHQJXPSXODQ�GDWD��UHGXNVL�GDWD��GLVSOD\ GDWD�GDQ�SHQJDPELODQ�NHVLPSXODQ�

3HQHOLWLDQ� LQL�PHQXQMXNNDQ� EDKZD� VLVZD� VXGDK�PHQJDPDONDQ� QLODL�QLODL�
GDVD�GDUPD�GHQJDQ�EDLN�\DLWX� WDTZD�NHSDGD�7XKDQ�<DQJ�0DKD�(VD�� FLQWD� DODP�
GDQ�NDVLK�VD\DQJ�VHVDPD�PDQXVLD��SDWULRW�\DQJ�VRSDQ�GDQ�NVDWULD��UHOD�PHQRORQJ�
GDQ�WDEDK��UDMLQ�WHUDPSLO�GDQ�JHPELUD��KHPDW�FHUPDW�GDQ�EHUVDKDMD��GLVLSOLQ�EHUDQL�
GDQ� WDDW�� EHUWDQJJXQJMDZDE� GDQ� GDSDW� GLSHUFD\D�� VHUWD� VXFL� GDODP� SLNLUDQ��
SHUNDWDDQ� GDQ� SHUEXDWDQ�� $NWLYLWDV� GDODP� � VHWLDS� NHJLDWDQ� SUDPXND� GDSDW�
PHPELQD�NHSHGXOLDQ� VRVLDO� VLVZD�\DLWX� SHGXOL� WHUKDGDS� VHVDPD�� SHGXOL� WHUKDGDS�
RUDQJ� ODLQ� GDQ� � SHGXOL� WHUKDGDS� OLQJNXQJDQ�� +DO� WHUVHEXW� WHUWXDQJ� GDODP� GDVD�
GDUPD�SUDPXND�\DQJ�PHQJDQGXQJ�QLODL�PRUDO�GDQ�VRVLDO��3HPELQDDQ�VLNDS�SHGXOL�
VRVLDO�GLODNXNDQ�GDODP�EHUEDJDL�DNWLYLWDV�GDODP�VHWLDS�NHJLDWDQ�SUDPXND�VHSHUWL��
NHJLDWDQ�XSDFDUD���EDULV�EHUEDULV��EHUNHPDK�EDNWL�VRVLDO��KLNLQJ�DWDX�SHQMHODMDKDQ��
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